1902 2IA1E] AT (2F)

[H]1903] =i o|3|(A|E)] ¢ 2012. 10. 23. ~ 11. 1. (1042hH
ol Al = N1 2 o o A H 1
10.23.(3D | (10:00) |O N3] A =3] 7%

A1z |O 5 A4 2394
m3)e |1. A1903] FF23 (A3 7] B 2ALA
ZAe] A
(10:10)
2. 20121 % A|33] HAF LU A 2 E5HI) A
FIH7 A A A Aol E AGAEY
3. G AHAAEE Y3 FA] A
4. TAAATHAIAAEEY DS A9 A
5. 201295 PAAFZAL AAA7] R 717 EA L] A
6. PAAFHFASE LS 7 A
7. 20129 % 7] FAZQA4YA Fx A 1024~
el A 31.(8%)
8. &3¢ A %3
A1z} | 1. PAAFZASE LS 93 A9 A 23] A
WAES (2. BAAFFASEHAS] A A A
(13:00) (3. 20129 = PAATZAADA Ao A
(13:30) |O &9 A3 2 AP A 2394
(10:00) |0 EXE A5 (HAH=H)
10.24.(3)
(14:00) |0 €X&&F (X1 5H)
(10:00) |0 X5 (&)
10.25.(%)
(14:00) |0 HXEAEF(E3H)
(10:00) |0 €X]&N&5F(H3H)
10.26.(3)
(14:00) |0 €X&AN&F(FHH)
10.27.(8)| & 3] |0 94 A F
10.28.(¢)| 3 O F ¢
(10:00) |O €X]&N&5F(v]ekH)
10.29.(8)
(14:00) [O dXFAEF(FH+)




Y Al T = £ 9 & A Hl 1
10.30.(3h | A1z |1- ALEASEALS 9% Ao A 23]9]4
qAsg (2 ARAASLNA 4 A A
(10:00) |3+ 20129 % A33] HFT U3A 2 SEIA
F744 Y AR
= AR, AERT, 23 A4
10.31.(3) | A123 |1, 20129 % #1338 HAF QdslA 2 Saz)A  |(E3AA
QA5 | FIHRA AL
(10:00)| = &8 A&, AS2A, AALLA e
AL |1, FEAeAGAASE93] 997F Ao 7|24
THAE(2. 24 GRADYAEEAYS 24 A4l 2
=9 (3. 20129 HFAF FHALRYAY 32 A
(16:00)| A=
- 23] o] A)
11.1.(%) ;12’: 1. 201295 PAHAZZAAGA e =L
5|
2. WHAEEA AFAE Y DAL 4279 7
(10:30)
A2z |1 20129 % sy 2HF A7 FAe 239%
gse | EHEX
(11:00) [2- 20129 % AI33] HFZ LB3)A % 5237
371737 o ke
3. 20129 YHAFAALA £ 2
4. AT HA7E FHAZAAE FUA LY LA
2399 WA Z=He A
5. A1903] 323 (¢A3]) 325 A2

Az A






